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AYXKHZXH 1

Consumption-savings decision

max U =x," + x,”

subject to

X, +x,<m,x; 20,x,20
petaPAnteg X, X,
napapetpot a>0,m>0

AYXKHZXH 2

Demand for insurance

max U=p(m—-{ —px+x)* +(1— p)(m— px)”
subject to

px<m,px+¢ <m+x,x>0

petafBAnteg x

napapetpot @ >0,p>0,p<1,{>0,m>pd

AYKHZH 3

Demand for a risky asset

max U = p(x +yH)” +(1 - p)(x—yL)*

subject to

x+y<m,xzyl,x=0,y=>0

petafAnteg x,y

napopetpot a>0,p>0,p<1,H>0,L>0,pH-(1-p)L>1

AXKHZH 4

N

maxW = 6x, + Ba,
i=1

subject to

N
y+2x, SN,GS%,X, >0Vi,y=20,a>0

i=1
HETAPANTEG X, X,,..., X,,0,Y
napapetpot 4,,6,,...,0,,N,k, B,0\eq OeTikeg



